
Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–VI • EXAMINATION – SUMMER 2013 

Subject Code: 351905 Date: 17-05-2013        
Subject Name: Estimating Costing and Contracting 
Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions. 
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version is considered to be Authentic. 

 
Q.1 (a)Define costing. Explain importance of costing in an industry.   (7) 
 (b) List methods of overhead allocation. Explain man-hour rate method.  (7) 

Q.2 (a) The market price of a machine is Rs. 80,000 and 15% discount is given to the  (7) 
      distributor. If material cost , labor cost & factory overheads are in the ratio of  
      2 : 1 : 3 & factory overhead is Rs. 18,000 , office overheads are 5% of prime cost 
      & selling over heads are 10% of factory cost. Find profit of manufacturer.  
(b) Define depreciation. Write different methods of calculating depreciation and  (7) 
      Explain any one in detail. 

OR 
(b) A machine was purchased at Rs. 3,00,000 , the transportation and installation (7) 
      Charges were Rs. 4000 & Rs. 6000 respectively & useful life is 20 years. The 
      scrap Value was estimated Rs. 40000.Find the rate of depreciation/year by  
      straight line  method & sinking fund method. Rate of interest is 18%. 
 

Q.3 (a) List elements of cost in gas welding and also factor affecting gas welding cost. (7) 
 (b)A square bar of 5 cm side and 40 cm length is to be converted by hand forging  (7) 
                 into a bar of hexagonal section having each side equal to 3 cm. calculate the  

     length of hexagonal bar produced. Consider 5% scale loss of total volume. 
OR 

Q.3 (a) Explain various types of losses occurs during the forging process.  (7) 
 (b) 100 x 100 x 100 cms open tank is to be gas welded only inner sides from 5 mm    (7) 
       thick M.S. plate. Find the welding time if welding speed is 5cm/min. Take fatigue  
       allowances 5%, If welder is paid Rs. 160 per day of 8 working hours. Find labor  
       charges to weld the tank. 
Q.4 (a) Define B.E.P. Derive an equation for B.E.P. analytically. Show break even chart   (7) 
       for B.E.P. 
            (b) M.S. bar having diameter 5 cm and length 10 cm is to be turned down to 4 cm in   (7)  

      one cut. Estimate the machining time if cutting speed is 25 m/min and feed is  
0.1 mm/rev.  

OR 



Q.4 (a) A company has fixed cost Rs. 50,000. Selling price per product is Rs. 20 and (7) 
      variable Cost is Rs. 10 per product. Find B.E.P of this company. Find new B.E.P  
                 if selling price is increase by 10%. 
 (b) State and explain different types of sheet metal operation.   (5) 
 (c) List pattern allowances.        (2) 
  
Q.5 (a) Define budget and state its objectives.      (5) 
 (b) List modern tools and techniques of cost reduction.    (4) 
 (c) Define: 1. Approach 2. Over travel 3. Feed 4. Depth of cut 5. Cutting Speed (5)  

OR 
Q.5 (a) Define contract. State the conditions of contract.     (7) 

(b) Enlist various types of budgets. Explain any one.    (7) 
 

*************** 
 

vt{Plt.1 (y) ftumxekdtlte JgttFgtt ytvttu. yti$turdtf yufbtbttk ;tulte s~rhgtt;t mtbtSJttu.   (7) 

 (ct) ytuJth-nuz yujttufuNtltlte rJtrJt"t he;ttu jtFttu. btult-yJth huxlte he;t mtbtSJttu.  (7) 

 

vt{Plt.2 (y) yuf btNteltlte ctSh rfkbt;t ~. 80,000 Au, rzmx[ecgtwxhltu 15Ù rzmftWlx ytvtJttbttk ytJtu Au. (7)  

     Su btxehegtjt Ftato, btsqhe Ftato yltu Vufxhe ytuJth-nuz 2&1&3 ltt vt{bttKtbttk ntugt yltu Vufxhe  

     ytuJth-nuz ~. 18,000 Au. JtneJtxe ytuJth-nuz vt{tEbt ftumxltt 5Ù yltu JtuattKt ytuJth-nuz  

     Vufxhe ftumxltt 10Ù ntugt ;ttu ltVtu Nttu"ttu.       

(ct) Dtmtthtlte JgttFgtt ytvttu. Dtmtthtu dtKtJttlte sw’e-sw’e vt}r;t jtFte ftuE yuf vt}r;t mtbtSJttu.  (7) 

     y:tJtt 

(ct) yuf btNtelt ~. 3,00,000 bttk Fthe’Jttbttk ytJgtw n;tw. vtheJtnlt yltu m:ttrvt;t Ftato yltw_btu  (7) 

~. 4,000yltu 6,000 n;ttu. btNteltlte Ctkdtth rfkbt;t ~. 40,000 "tthJttbttk ytJte n;te. yt  

btNteltlte yk’tB;t Bk’dte 20 JtMtolte Au, ;ttu JtMto 'eX Dtmttht 'h mx[uxjttElt btu:tz yltu mtelfekdt  

     Vkz btu:tz:te dtKttu. Jgttslttu 'h 18Ù Au. 

 

vt{Plt.3 (y) dtumt Jtujzekdtltt Ftatoltt Dtxftu jtFttu yltu dtumt Jtujzekdt Ftatoltu ymth fh;tt vtrhctGtu sKttJttu. (7) 

 (ct) yuf attuhmt mtrGgttu fu sulte cttsw vt mtu.bte. yltu jtkcttE 40 mtu.bte. Au. ;tultu nulz VtuBOdtlte  (7) 

     bt’’:te MtxTftuKtegt ytzAu’ltt mtrGgttbttk VuhJtJttbttk ytJtu Au, sulte 'huf cttsw 3 mtu.bte. Au, ;ttu  

     MtxTftuKtegt mtrGgttlte jtkcttE Nttu"ttu. mfujtjttumt fwjt f’ltt 5Ù jtuJttu. 

     y:tJtt 



vt{Plt.3 (y) VtuBOdt vt{tumtumt 'hbgttlt W;vtllt :t;tt Jgtgtltt vt{fth mtbtSJttu.    (7) 

(ct) 100 × 100 × 100 mtu.bte. bttvtlte yuf Ftwjjte xtkfe vt bte.bte. SztE JttGe yubt. yumt. vjtuxbttk:te   (7) 

     Vf;t yk’hlte cttswyu Jtujzekdt fhJttltwk Au, Su Jtujzekdt mvtez vt mtu.bte. vt{r;t rbtrltx ntugt ;ttu Jtujzekdt  

     mtbtgt Nttu"ttu. :ttflte AqxAtx vt Ù jttu. Su Jtujzhltu ~. 160 vt{r;t r’Jtmt 8 fjttfltt vtuxu vtdtth  

     ytvtJttbttk ytJt;ttu ntugt ;ttu xulfltu Jtujzekdt fhJttlttu btsqhe Ftato Nttu"ttu. 

 

vt{Plt.4 (y) ct{uf EJtlt vttuElxlte JgttFgtt ytvttu. yulttjtexefjt he;t:te ct{uf EJtlt vttuElx Nttu"tJttltwk mtq*t Nttu"ttu.  (7) 

      ct{uf EJtlt vttuElx ct{uf EJtlt attxobttk 'NttoJttu. 

 (ct) vt mtu.bte. Jgttmt yltu 10 mtu.bte. jtkcttElttu yubt. yumt. htuz 4 mtu.bte. Jgttmtbttk yuf fxbttk xlteOdt   (7) 

      fhJttlttu btNteltekdt xtEbt Nttu"ttu. Su fxekdt mvtez 25 btexh vt{r;t rbtrltx yltu Vez 0.1 bte.bte.  

     vt{r;t rhJttujgtwNtlt ntugt. 

     y:tJtt 

vt{Plt.4 (y) yuf fkvtltebttk rVfmz ftumx ~. 50,000 Au. vt{r;t gtwrltx JtuattKt rfkbt;t ~. 20 Au yltu Jturhgtuctjt   (7) 

     ftumx ~. 10 vt{r;t gtwrltx Au. ct{uf EJtlt vttuElx Nttu"ttu. Su JtuattKt rfkbt;tbttk 10Ù lttu Jt"tthtu fhJttbttk 

     ytJtu ;ttu ltJttu ct{uf EJtlt vttuElx Nttu"ttu.  

(ct) Ntex btuxjt Nttuvtltt sw’t-sw’t ytuvthuNtlt jtFte mtbtSJttu.     (5)  

(f) vtuxlto Wvth ytvtJttbttk ytJt;te sw’e-sw’e Aqx (yujttWlmt) sKttJttu.    (2) 

 

vt{Plt.5 (y) ctsuxlte JgttFgtt ytvttu yltu ;tultt WÚuNttu sKttJttu.     (5) 

 (ct) ftumxbttk Dtxtztu fhJttlte yt"twrltf mtt"tlttu yltu xufrltfTmt jtFttu.    (4) 

 (f) JgttFgtt ytvttu & (1) yuvt{tuat  (2) ytuJth x[tJtujt  (3) Vez  (5) 

    (4) zuv:t ytuV fx (5) fxekdt mvtez 

      y:tJtt 

vt{Plt.5 (y) ftulx[ufxT lte JgttFgtt ytvttu. ftulx[ufxTlte Nth;ttu sKttJttu.     (7) 

 (ct) ctsuxltt vt{fth sKttJte dtbtu ;tu yuf mtbtSJttu.      (7) 

 

********************* 
 

 

 

 

 

 


